@ f g::? vier ganze Zahlen, Reihenfolge der Operationen mit
&2D : Klammern

Name: Datum: Ergebnis:
10— 9(6-3) = 9+ 10(1—1) =

(40+4—11)x 3= (12+4+9)x 2=

(10-3)x 10— 9= (11+8)x 8+ 11 =

B8+6)x2—10= T+7)yxT7+11=

9+93—6)= 147+ 1)+7 =
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@ f g::? vier ganze Zahlen, Reihenfolge der Operationen mit
) . Klammern

Name: Datum: Ergebnis:
10— 96— 3) = (~17) 9+10(1-1)=9

40+ 4—11)x 3= (-3) (12+4+9)x 2 =24

(10— 3)x 10— 9= 61 (11 +8)x 8+ 11 = 163

(8+6)x2—10= 18 (7+7)x 7+ 11 = 109

9+ 93— 6) = (—18) 14(7+ 1) =7 = 16
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